Realschule

4. Mathematikschulaufgabe

Klasse 9
- Losungen -

1. a) 3:/12=4312=436=6
b)  2/8.5.42-2.5.42.8-10/16 = 40

d) Jﬁ=5=x

e) 49a° -b* =7a°b*

)  87+6° =100 =10
9 86’ =86-48

2. &) (V50+2v18)v2 =502+ 2182 = 100 + 2/36 =10+12 =22

b)  (3-2V5)(4+3V5)=12+9/5-85-6-5=5-18

0 (305 E)(o45+B)=(05) (5 -5:5-3-22

d) (ﬁ—ﬁ)zz(ﬁ)2—2ﬁ+(ﬁ)z:7—2J1_4+2:9—2Jﬁ

3. «/§x+\/§y:2\/§ |-3 X =14./2,5 einsetzen:
242X —343y =+/5
/\\/_X \/—y\/_ \/§x+\/§y=2\/§
32x+33y = 675 Additionsmethode V2:1425+3y =25
A2v2x-3V3y =+/5 J3y=2J5-145
5V2x=7V5  |:52 y:%
3
x——7\/g
572 y:0,6\E
x=1442,5=44,9~2721

y =4/0,6 ~0,77

RM_STL006 1(1) © www.mathe-physik-aufgaben.de



